

A

$$\int \underbrace{x^2}_u \underbrace{e^x dx}_{dv}$$

$$\int u dv = -\int v du + uv$$

B

$$\int \underbrace{e^x}_u \underbrace{x^2 dx}_{dv}$$

$$u, dv$$

?

$$\int u dv = uv - \int v du ; u = e^x \rightarrow du = e^x dx$$

$$= e^x \left(\frac{x^3}{3} \right)$$

$$dv = x^2 dx$$

$$\int du = v = \int x^2 dx$$

$$v = \frac{x^3}{3}$$

$$- \int \frac{x^3}{3} (e^x dx)$$

$$\int \underbrace{e^x}_u \underbrace{x^2 dx}_{dv} = \frac{1}{3} e^x x^3 - \frac{1}{3} \int x^3 e^x dx$$

B
=

A

$$\int \underbrace{x^2}_u \underbrace{e^x dx}_{dv}$$

$$\int u dv = -\int v du + uv$$

B

$$\int \underbrace{e^x}_u \underbrace{x^2 dx}_{dv}$$

$$\underbrace{u, dv}_?$$

$$\int u dv = uv - \int v du ; u = e^x \rightarrow du = e^x dx$$

$$= e^x \left(\frac{x^3}{3} \right)$$

$$dv = x^2 dx$$

$$\int du = v = \int x^2 dx$$

$$v = \frac{x^3}{3}$$

$$- \int \frac{x^3}{3} (e^x dx)$$

$$\int \underbrace{e^x}_u \underbrace{x^2 dx}_{dv} = \frac{1}{3} e^x x^3 - \frac{1}{3} \int x^3 e^x dx$$

B
=

$$\int \underbrace{x^2}_u \underbrace{e^x dx}_dv$$

$$\equiv \int u dv$$

$$= uv - \int v du$$

$$= (x^2) e^x - \int e^x \cdot 2x dx$$

$$\int \underbrace{e^x}_u \underbrace{x^2 dx}_dv$$

$$u = x^2 \rightarrow (du = 2x dx)$$

$$dv = e^x dx$$

$$\int dv = e^x = v$$

$$\int \underbrace{x^2}_u \underbrace{e^x dx}_dv = x^2 e^x - 2 \int x e^x dx$$

$$\int \underbrace{x}_p \underbrace{e^x dx}_dq = \int p dq = (p q) - \int q dp$$

$$p = x \rightarrow dp = dx$$

$$dq = e^x dx$$

$$q = e^x$$

$$= x \cdot e^x - \int e^x dx$$

$$= (x e^x - e^x)$$

$$\int x^2 e^x dx = x^2 e^x$$

$$\begin{aligned} & \rightarrow (x e^x - e^x) + C \\ & = x^2 e^x + 2e^x - 2x e^x + C \end{aligned}$$

$$\int \underbrace{e^x}_u \cdot \underbrace{\sin x dx}_{dv}$$

$$u = e^x \quad (du = e^x dx)$$

$$dv = \sin x dx$$

$$v = -\cos x$$

$$\int \underbrace{e^x}_u \cdot \underbrace{\cos x dx}_{dv}$$

$$dv = \cos x dx$$

$$v = \sin x$$

$$= uv - \int v du = e^x \sin x - \int \sin x \cdot e^x dx$$

$$= e^x \sin x - \left[-e^x \cos x + \int e^x \cos x dx \right]$$

$$uv - \int v du$$

$$e^x \cos x + \int \cos x \cdot e^x dx$$

$$\int e^x \cos x dx$$

$$= e^x \sin x + e^x \cos x - \int e^x \cos x dx$$

$$\Rightarrow \int e^x \cos x dx =$$

$$e^x \sin x + e^x \cos x$$

$$+ C$$

$$\int \underbrace{x}_u \underbrace{e^{-x}}_v dx$$

$$u \equiv x \rightarrow du = dx$$

$$dv \equiv e^{-x}$$

$$v = -e^{-x}$$

$$= x \cdot (+e^{-x}) - \int -e^{-x} \cdot dx$$

$$= x e^{-x} + \int e^{-x} dx = x e^{-x} - e^{-x} + c$$

$$\frac{d}{dx} (x e^{-x} - e^{-x}) = \dots = x e^{-x}$$

~~$$e^{-x} + (-1)x e^{-x} + e^{-x}$$~~

$$\frac{d}{dx} (x e^{-x} - e^{-x})$$

$$= e^{-x} + (-1)x e^{-x} + e^{-x}$$

$$= 2e^{-x} - x e^{-x}$$

$$a) \int f(x) \cdot h(x) dx = \int f'(x) \cdot h(x) dx$$

$$= \int f'(x) \cdot h(x) dx - \int \left\{ f'(x) \cdot \left(\int h(x) dx \right) \right\} dx$$

$$\int e^x \cos x dx = e^x \cdot \cos x - \int \left\{ (e^x) (\sin x) \right\} dx$$

$$f(x) = e^x \quad = e^x \cos x - \int e^x \sin x dx$$

$$f'(x) = e^x$$

$$\int h(x) dx = \int \cos x dx$$

$$= \sin x$$

$$(e^x)' = e^x$$

$$\int e^x dx = e^x$$

$$\begin{aligned} (\sin x)' &= \cos x \\ \int \sin x dx &= -\cos x \end{aligned}$$

$h(x)$

$$f(x) = e^x$$

$$\int (e^x) dx$$

$$= f'(x) \cdot h(x) - \int (f'(x) \cdot \int h(x) dx) dx$$

$$= e^x \cdot x - \int \frac{e^x \cdot x^2}{2} dx$$

$$f(x) = e^x \int x^2 dx$$

$$h(x) = x^2$$

$$\int h(x) dx = \frac{x^3}{3}$$

$$f'(x) = e^x$$